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The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 70 will be settled based on
the Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Facts relating to Marthanda Varma

C)

During Marthanda Varma’s period, the Pillamar the Matampimar had established
them as a powerful force the public life of the State and they were supported by the
Yogakkar.

. Poets like Ramapurathu Warrier and Kunjan Nambiar came to adorn the Court.
. The classification of the land under the main heads of the Devasam, Brahmasam,

Danam and Pandaramvaka was introduced by Mallan Sankaran.

. A group of villages constituted the Mandapathumvatukkal which was underlay karyakar

who was protype of the modern Tahsildar.
i, i, iii are correct B) i, ii, iii, iv are correct
iii and iv are correct D) i and ii are correct

2. Facts relating to Dutch in Kerala

A)
C)

In 1643, fresh treaties concluded between the Dutch on the one side and the Rajas
of Purakkad and Kayamkulam on the other.

. The Cochin Raja accepted Dutch Suzerainty and undertook to deliver to the Dutch

all the cinnamon and pepper produced in his country.

. The religious policy of the Dutch was liberal and tolerant unlike that of the Portuguese.
. The Governor General in Council at Goa was in over-all charge of the Dutch territories

in the East.
i and ii are correct B) ii, iii, iv are correct
i, i, iii are correct D) iii and iv are correct

3. Facts about integration of Kerala

A)
C)

The Payannur Political Conference held in May 1928 under the Presidency of
Jawaharlal Nehru passed a resolutions constitute Kerala a separate province.

. The Aikya Kerala Conference held at Trichur in April 1947 under the Presidentship of

K. Kelappan attended the reigning Maharaja of Cochin Sri Kerala Varma and spoke
himself in favour of the establishment of a United Kerala State comprising of British
Malabar, Cochin and Travancore.

Integration of Travancore, Cochin held on July 15! 1949,

. Under the State’s Reorganization Act 1956, the four Southern Taluks of Travancore,

Tovala, Agatiswaram, Kalkulam and Vilavancode included the Kerala State.
i, ii, iii are correct B) iii and iv are correct
i and iv are correct D) ii and iii are correct
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1. oridsmessi_ uiom QS ML_[TLIMGS 2 G8sTenLOF 6T

LOMISSTGHTL_ UTLOTANGT HMTVSH 6D, LIGTATLOMT LOASLOLIDTT 6L THETF

F&F) uMiIbEeuiserts HaeBlnsSulmbsri. wiBlevdS e CLITg aumpdhasen
UDLMISS LD, euiser GuTEnbHmIgme s MdhsLiLL’ L 6.

. YeUTSTTeST (Q)ImioL|gsgeumii(BLb & @hFest BHLOLAWI(HLD FenLIHIW eVBISH TS

GU b GOTIT.

Ggeusib, L9FLDLOFLD, STGSILD, LIGSTL_MILDGUTHLD YHW (LpSHISFecvalisatler SLp

2 6T FlovdB6T UenSLILIT{H) LOGVGVGT FBIGTGTTeY YM(LpSLILIBHSSLILIL L ).

S ITLOBISENGT (& (Lp LOGWTL_LISSILDeITHISH6) eDLoSHLILIL L &I, (@)5] BaTeT S1Fe0% e
wpest Lon@wirest smfwsTrfet GLp @) BHSS-

I, il Lopmyh il FAwmesTeneu B) i, ii, iii, iv #flwnerena

il LopmyLb IV FRMwTeTen6 D) i wpmyib ii sMlwneseneu

2. Cagormaileh o 6iTar L dsSIIIGeHL 6T OFML_TLIGHL UL 2 GBTEHLOSGT

iv.

A)
C)

1643 Q)ob, LSW QLILIBSBIFET Q(BHLIDLD L FHSHFTITHEGTULILD, LOMIL|DLD
SMUBIGETLD LDSHTL Q6T JTgnds@pd@Ld Qe Cuw LHw QUILIBSEISET O)Fuig)
Olasmeirer i 1.

. Os1&@ grgym L& " Feow eIpmidO\SIessTL Mt LoDMILD L FHSHTTIS @SS,

YM&TSG QeVeUBISLILIL L LoHMILD algd BT 1g6d allewarss Llard @)eupenp
QULPEIS 2 P wefSs .

iii. CumissISFwiisearts CLTEGTLOG, L F&HBTIIHET o5 0)STeTenHUNGD STTTTOITSLD

LoPmILb FHLILSS6Te 06U O)FTEHSTLY (155SGOTIT.

Cameuraled o eirar FHeuieri-0Olggearged Glgsarereileh HpdhGled o 6irar L FarL
L&D FelleT yemetsgls Clmmiieib @) bbS.

i Lopmyih i FRlwnesteneu B) i, iii, iv sflwresteneu

i, i, il FMwrereneu D) iii ommyib iv glwimesemeu

3. Cagermailest @(hBIFHeTLIL] LIDMIL 2 c8TeH LSBT

A)
C)

acuanicred Crs semeventouiled 1928 gpib yevsr(h) GLo oagLd peL_GlLmHm
LIWeyTT HIFwed apr®k Csgertenel Fest LOTEHTEHILDTS HeLDHGHLD LTSS

BlewpCoupmlwig).

. 1947 ealigedled Hps@EMed Cx.Csarivier gewevewulley @&&w Gasger ompr@

s QUppG. Claréfeamearyer wasrimer wf Cagar euinm Hevbs 615 Tes(h),
AL g ey e, CsrEesT wPpmitb DHaNSTBIFmT 2 6TaT_sGw @&Fw Cxger
wrhlevdens avsTLILFSDE YsTeuTsls CuFesmi.

Swadlgnsignt, Cs1éFer QenentiiL) grdemev 1, 1949 ety pevL_OlLPDSI.

wrBlev wpFgenioliLyd 1”1 _1b 195667 §1p, HBalsnEigm T, CHraunert, sdSevairLb,
SO &aLd Lopmith aflereunCasm(R) YFHw Br6TE 056 SMadbs1s56T CHyer LOTHVSmS
2 GTATL_&FHWIG).

I, i, il FMwreTeneu B) iii opmuib iv Fflwnesreney

i LopmyLb IV Flwnesteneu D) ii opmuib i Flwimesteneu



031/23 -T

4. Facts relating to Mughal administration of the medieval period.

i. The first time in Indo-Islamic literature the Ain-i-Akbari expounds the principles of
taxation.

ii. Akbar's ministry comprised four members. Wakil (Prime Minister), Wazir (Finance
Minister), Mir Bakshi (Minister In-charge of Army and Administrations), Sadr-us-Sudur
(In-charge of Religion and Charities).

iii. Practically all services exception of the religious and judicial were organized on a
military basis and were controlled and paid by the military department.

iv. The king was the fountain head of all authority except judiciary and military.
A) iand ii are correct B) iii and iv are correct
C) i, ii, iii are correct D) i, iii, iv are correct

5. Facts relating to Socio-Religious Reform Movement.

i. The one idea that haunted Vivekananda during his parivrajaka (wandering) days was
how to make the Vedanta practical.

ii. Rammohan Roy was fully alive to the challenges that had come to India in the form
of western civilization and felt strongly the need for a new philosophy which would,
without sacrificing the genuine spiritual heritage if India, absorb and assimilate the
modernism imported from the west.

iii. Prarthana Samaj followers devoted their attention mainly to social reform-interlining
inter-marriage, remarriage of widows and improvement of the lot of women and the
depressed classes.

iv. Annie Besant believed that a revival and reintroduction of India’s ancient ideals and
institutions could solve most of the problems.

A) i, ii, iii, iv are correct B) i, iii, iv are correct
C) iii and iv are correct D) ii only correct

6. Facts relating to Rise of Extremism.
i. Recognition of the true nature of British rule.
ii. Deteriorating economic condition of India.
iii. Lytton and Curzon’s progressive administrative policies.
iv. Contemporary international influence.
A) iandii are correct B) i, ii, iv are correct
C) iii and iv are correct D) i, iii, iv are correct
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4. @5@)/711_1 Blieuns$Set Q)enL_sHMev STeVdGIL 65 O)FML_ML|GHL W 2 GRTeHLOEGT.

@BFw-@evevmili ReEESHD (LPFET (LPODWITS HUI6T-g0-HdLf euflalBiLy

s metenssemar allerd@Emm.

. ISLMeT e IdFFHID BM6TE 2 milidearisemard C&messiy (hhsH. uHed(L97sL0

SewLogF), Ui (1% gjenindai), LOTLINGH (Q)umesniaLb LoPpmILD BlieursQummyiLimeni),
FSIT-2_6V-&GIT (L0SLD LoHMILD GBS Tesst(h) Hmiauetniganest OlLimmiliLimern)

gD LoPWILd BHSHIemm ST pevL_(Lpepuiled Yaneasiss CFaals@bd @)ITesyia
LIl L_ul6d QUPBISELOSSLILIL L 6T, LOPMILD (Q)TTEDIRIS SIEwDUITE)

S HLIL@RSSLILL (B 20SwiLb eupBISLILIL L F).

V. BFdsIewm LHMID @)ITesaib SallT ewaTssl P sTIBISGHGT (LPSETEILD SRITTS
LDGSTGSTT () (BB TIT.

A) i pmyb i FRlwresTeneu B) iii opmuib iv Fflwnesreney

C) i, i, iii MwresTenau D) i, iii, iv gflwmrestenau

5. J@pas 1% FiG(h5S QUIGHLD O\GTLTLITGT 2 GRTenLOHEIT.

aNCousrespshest LiMeigTes (Sewebs BMbs) BT sealled Uy gL GBI Ga(H
Cungenest, Cousnbgsens e1LiLig QFwevLITL 196D O)FTessT(h UIHGUS GTGTLIG FTGH.

. gmbGromaest gl CLopsSE Br%issS6T aulg albGev @QBHWTalD @ aUbs FauTeOH 6T

Lp(peLOWITH 6TH)TO)HTevsTL_MiT, GLogItb QB LB S55I0USF 6T HUPUISMS QUGYI6ITS
2 GRS T, Q)& 2 GBTLOWTTHYGTLES LimgLbLiMwgens Swnsd GleFuinumped, CLop&ev
Qi QDIGLS ClFiuliul L pefaiggeusans 2 6reunsI® 6555w enTsH DS
Komiggert Fwrenggll HTUDDILIGAFET (LPSHWLDTE Feps FiFHSHLD, HLIL
B pLoewtid, allgemeusefler p/oewTb PHWID ClLIGTS6T LoPmIb STHSSLILIL L
@ Lierier perCerpmib YHweaiHmled Heuatd ClFeydG .

V. @pSwralet LsssTenl_w @)evL” FWBISET LoPMILD BINIeUGSTEISGTET Lo Lo6VTFE) Lo myLD
om) AW(Lp&HLd ClLihLbLITVTGT LITFFeISeGT Biidhd (LpLYUJLD TGN 2J6iTest) C)LIFasTL
BLDLY G,

A) i, ii, iii, iv #flwmereneu B) i, iii, iv #flwmerenau

C) il opmuih iv FlwnesTen ey D) i or” ®Cro FMwimewgy

6. SallgeunssF et 61(LpFF) QST TLITGT 2 GRTEHLOSGIT.

I A g ey 9" FluletT 2 6vTen LW TeST FeTenLloenill Y EISHMSSH60.

. QBPwraller Figemens CLTBETISTT Blenevenidsentildseb.

i. O L& Lommyth sriFestladr (Lo CLImGSmest [5)ieunss 0% meiTenHS5eir.

V. Farew FieuGss OFeeursd.
A) i opmyib i FRwTeTen6 B) i, ii, iv #flwmesemeu
C) iii opmyib iv FRwmesTeneu D) i, iii, iv #gMlwmesteneu
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7. Facts about British Administration in India.

The first association of British with the work of administration under what is called the
system of Dual Government.

. By the Regulating Act, the Supreme Court constituted in 1774 with Sir Elijah Impey

as Chief Justice.

The Pitt’s India Act, 1784 introduced changes mainly the Company’s home government
in London.

By the Charter Act of 1813 the Company was deprived of its monopoly of trade with
India but it still enjoyed its monopoly of trade with China and the trade in tea.

A) iandii are correct B) i, iii, iv are correct

C) iii and iv are correct D) i, ii, iii, iv are correct

8. Facts relating to French Revolution.

9.

The Estates-General was traditionally composed of three Assemblies representing
the three estates.

. In tax system, those who were the wealthiest and therefore best able to support the

State were the very ones who paid the least.

The Revolution was not caused by the philosophers but by the conditions and evils
of the National life and by the mistakes of the Government.

. The Declaration of the Rights of the man — a statement intended to have universal

applications and which certainly had very far-reaching implications.

A) iandii are correct B) ii and iii are correct

C) i, ii, iii, iv are correct D) iii and iv are correct

Facts about the causes of Second World War.

Rearmament and appeasement.
Militarism, imperialism and colonialism.

Munich Pacts and Decisions.

iv. ltalian Polish Corridor attack.
A) i, ii, iii are correct B) ii, iii, iv are correct
C) ii and iv are correct D) i and iii are correct
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7. QpFwumalley 9N 196y Flieunsid LD 2 GETEDLOSGT.

. @Quleni (pewp YTFTBISLD eTTliL(heus) blieumsls Liewilujr_esr 2y,m1G% Gevuw iser e
(LPSGV FBISLD.

ii. @upBIGU®BSHILD FLL GGt epevid, 1774 Qev &t e16dleam @)bGLI FemevenLo
BRUDwns o FF ERLOGIDLD o (HeundSSLILIL L ).

iil. Y ev @pSwr 1 _1b 1784 ez (LpSHWLDTH UESTL cvfleh 2 6iTar [FlmieesTd ) 6ir
LGV Y TFTEIFSFHGV LOMHDBISET HYD(LpSLILI(HSSH WS

iv. 1813 @)etr #mi’ L1t F1"1L_$G6HT eLpevld Flyeuestld @Q)BSUWITa L GSTTET aiidSHd5) 6T
asCUTsSS Q)LpbSSI, 2eTTe0 % FestnaL_esTieT auidbssd wHmitb Caufleney
AUTSS55PD FeT asCLITESMS ey LIaldS aUbFH.

A) i opmih i FRlwreTen ey B) i, iii, iv #flwmesremeu

C) il opmyib iv FflwneTen ey D) i, ii, iii, iv #flwnereneu

8. L90rGha Ll & QlGTL_[LITGS 2 GTeDLOEGHT.
i. 610VCL_L" 6w-Glegestyed LimyLbLiMuwions epesimy eTavCL_ L Senerls LITB)6S)saI0L1LIHSSHILD
ALPGIMY FL L FeOLIS®aTSH OB TGRTL G
ii. eull wpempudetLiLg, 94B% ClFevabsisarTsa b, ADbE LPeODUIGD Y TadE USTaTSHS:
Fnlq WUTSATTSALD Q) (BhSeUTHET LI5S Gephs aufl OFeysSweuiser.
iii. Yo' & sSFI0ITHHTTCL IDLIL_alevenev, estTed CHF euTLpSHensHullet BleneenLoser
LoPmILD FLOSGET LODMILD Y TFTBISEF T SOUIMIFATT GIHLIL L ).
ivV. oesflsesiler o Meoser Lg% _es1ib-2 evsarmalw LIwWGTLTRHSer CBIEHLDTSHS:
CsrewiL a@h YBldes wPmid Q)& BldFFwins sab ClFTeancvCETs @
BTG BISeTS 0)HT6HT (G ToTS.
A) i pmb i FRlwresteneu B) i opmyib iii sMlwnestenau
C) i, ii, i, iv eMwnesenau D) iii ommyib iv glwimesemeu
9. @uerL_mib 2 st CLTHGT STIeRTBISET LPPIL 2 GHTen Lo 6.
i. LomIFgeoLoliL) oPmILD FLOTSTGTLILI(HSSH|S6V.
ii. @oreieieansid, aSTHLSHWLD LPDILD FTevelSS S aiLb.
iil. (pesfldF RUILIBSBISET LODMILD (LPLY 6L SFGIT.
V. @dsredlw, LureSay CarAGL T $1dh@GS6.
A) i, i, iii #flwnesenau B) i, iii, iv #flwnereneu

C) ii wpmyb iv Fhlwrereneu D) i opmyb iii FMlwmesteneu
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10. Causes for the Rise of Nationalism.

Partitions of Bengal and Divide and Rule Policy.

ii. The press and periodications.

iii.
iv.
A)
C)

British Policy and llbert Bill Controversy.
British Foreign Policy of the pre-war years upset the Muslim feeling in India.
ii and iii are correct B) i, ii, iii, iv are correct

ii, iii, iv are correct D) iii and iv are correct

11. Identify the layer of atmosphere mentioned in the facts listed, and, choose the correct

answer from those given below.

Here temperature remains constant upto a height of 20 kms and afterwards it gradually
increases upto a height of 50 kms, because of the presence of ozone layer, which

absorbs sun’s ultraviolet rays.

. Itis a non-conductive zone of the atmosphere, containing rarefied air, where clouds

are absent with little dust or water-vapour.
Troposphere B) Stratosphere

Mesosphere D) Thermosphere

12. Consider the following statements regarding river deltas and identify the correct statements

from the codes given below :

Delta is a fan-shaped area of fine alluvium at the mouth of a river.
Deltas are the tidal mouth of a river where fresh and saline water are mixed.

For the formation of delta, a shallow sea, a river with substantial load of suspended

rock material and calm water off-shore are necessary.

. Deltas are formed on the shores of high tidal seas.
i, il and iii are correct B) ii, iii and iv are correct
i, il and iv are correct D) i, iii and iv are correct
-8-
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10. CsAwaInssSS T T(LPFFSHTCST HTTCRIEISET.

wBismarLs L9fallenesiser wHmb L9Mda 9" & CFuiyb Csmerens.

us@Mens wHmib HTev Qe Gleualsar.

AL 19 e Clsmeitens opmid @evLiiL’ 6O (LpIess.

Cunmé@ wphosw yeaa@saned L gay Oeualymeyd Csmrerens ()55 wraled
(LpaveSLbasalledr LIMGTLI o esstiieney FiGh@®wSSE.

il Lopmyd il FMwmereneu B) i, ii, iii, iv #gfMlwrerena

il i, iv #flwresteneu D) iii ommyib iv Flwimeseneu

1. ulgwedL i’ (herer 2 eseniosafled GBI L1l (heTer eueflLoeTL_cvd 56T

A DS®5E sewLPlig, 6L CsTRSSLILIL ReTtereunPled)Bhs Flwret LISaevs

G 0)% (HdHaLb.

A)
C)

Glwestler Lp oargndbs@isear o plepwd @CFTT LI wSHev @)BLILSTE, @Q)EIS
QeuriLiBlenev 20 &.15. 2 wgtb eueny Bleveowns () hE@GLb, LNGTeTT &) LILg LILIL WITH
50 &).185., 2 wgtb ouewT DS MNEB DG

@31 QUNLOERTL_WSHGT HL_SHISH DT GVGVTSH LOGRTL_GULDTEGHLD, HNFTRT HTHEODS
OsrewstRerengy, om@ Cssiser HYlw s1F yevevg HrmallyL e Qevemav.

L GorumavlQuirt B) evl gnGr_meviNuiri

LBGFmavvL Nt D) QgiGumaviurt

12. 8 GlLebL_mdser Qsm_iumer LeTamd HyPsamssamand smsHe Olsres®), 6L
OsT@RSSLILLC Retear GPuibSelledBba Filwmes yHlsenssemerd serLpHluia L.

O)L_GVL_IT GTGHTLIG DG (LpSHLILIG) 2 GITeT By6EsTeRfIL 6LGHTL 6V LD6vsTess G allF) euig el
LGS

. QUL_6OL_T&56iT 6T6HLIGI LB LoDmILD 2 6uit Bisevhd QUMM HeLPSLILIGD & Lb.

iii. O_6cbL_ 2 (BeuTeUSH G, SULPLODD FHL_6V, HewflFLDTET LiTenLT CILIT(hL Henars Gl messL

<Qm LoHMILD HeIdh@ OeuallGuw yeoLoGHwneTt i euFuwiLb.

DG DWW 2 L L HL_cVHaNeHT HeTulled O)L_6VL_TEH6T 2 (1K6uTH DG
i, il Lopmyih il FMwresTEn U B) i, iii topmyb iv Fllwimesteneu
i, il LommyLb IV FMwTeTen6u D) i, iii opmytb iV FRwmeTeneu

-9-
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13. ldentify the State mentioned in the facts listed, and, choose the correct answer from those
given below.
i. Sariska Tiger Reserve is in the Alwar district of this State.
ii. ‘Pokhran’ lies in this State is in the Jaisalmer district.

iii. The largest canal in India, Indira Gandhi Canal, which utilises water of Sutlej river, is

in this State.
A) Gujarat B) Uttar Pradesh
C) Rajasthan D) Punjab

14. ldentify the incorrect statement from those given below.
i. On 21 March, it is spring in Northern hemisphere, so called spring/vernal equinox.
ii. On 23" September, it is autumn in Northern hemisphere, so called autumnal
equinox.
ii. On 21 June, North pole is inclined towards sun, so days are long and hot and it is

summer in Northern hemisphere, so called summer solstice.

iv. On 22" December, South pole is inclined towards Sun, so days are long and hot

and it is winter in Southern hemisphere, so called winter solstice.
A) iis wrong B) ii is wrong

C) iiiis wrong D) ivis wrong

15. The facts mentioned below are about a peninsular river system of India. Identify the

correct one from the choices given below.

i. Itis the second largest peninsular river system of India.

ii. It rises from a spring near Mahabaleshwar and is 1400 km long.
iii. 1t's major tributaries are Bhima and Tungabhadra.

iv. It flows through Maharashtra, Karnataka and Andhra Pradesh.
A) Godavari river system B) Krishna river system
C) Mahanadi river system D) Cauvery river system

A -10-
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v g uieSl_ i (Reirer 2 eirenLosafled GBI _LiLil (ReTer Flewevenwid Hevs_Blbs, $CLp
Qs1BssLILLC Berearainmedmhg Fllwnet LFemevsd CsinolsBHEsa Lb.

i. Fflevasr Lyedser sTLiLSD )b LOTHVSFGT YeOUTT LOTOIL L SF6D 2 6iTars).

ii. ‘Qursgnest Qbs IBlwsSed OleuIFTOLDT LTaUL L $H6H 2 6iTengy.

ii. @pFwraller sICLIMW sTeveumds, QBB ITSIHSSTOMTLI, Q)b LOTHWSH6 FL' VgD

BT Beogtt LwWeTLHSSIPDS-

A) @gors B) 2 $s1195Gss1b
C) srsgavs s D) wLi@ps

GG CsTHSSLILIL BeTeraunPleS) (BhSEl SeUDTET HYPEEHEI L WTGTLD HTGSTa LD,
i. omig 21 oy, auL_&@ iECHTaTSH6 UFhS HTeVLD/ClaUTET6) @6 6T GV
GIGTMI 9 LPSHHLILI(HILD.
ii. QL b 23 Syeiimy, Q&I auL_&@& e IsCasTarsHed QenevwS T HTevLd 3 @Lb, ()&
Q@B TdhSH®UGRTTS6 6T e LpSELILIRS DI
iii. gg9eir 21 ey, auL _Gipaub @Giwenest Cprss Fmilpsienardl, e1aTGel B H6iT
bewr wpmyb QeuliLions @)@hd@Lb, Coad Q)& CasmenL_smew FHuFITHS 616y
dLPSHLILIBLD UL YegshCarartisency CsrenL_%meLom@GLb.
V. &bui22 ey, Clgeigiheutb FGMwenes Crrse FTUIbSIGTeNSI, SCHTT6
BIL &6 evst_gnsaib Gleuliinnseyd @)@hd@Ld, Cogtd @)siGelismew FBI1%gmhS
6T YdLPSEHLILIBLD CFH&H %G TaTSH GeisTeVIOnS @)(hdhGLD.
A) i seumy B) ii seumy
C) iii saumy D) iv seaumy
GG GPIIAL_LiLi” Beiter 2 eewioser QbGP wraller SusHLILD FF) YeLOLIL] LIHDHILIG).
G0 Csn®s$sLiLL Rerer Csieysailey Q) Bba FlwTeensds SewL_pleyLb.
. @& @BpFwraler @uewr_meug Gl FLSHL BS HLOLILITGLD.
ii. @1 anTLGaya(hdhE WmEHaierer berpPled @ bhs 61 opmib 1400 km
hord Gl&merL_g).
iil. @&eT (LpSHW FeHewT BSHSHET LIOT LoPWILD SHIBISLISTT.
V. @& LETITaNLy IT, SABTLST Pib 5Tl 197CsFd auflwns LTiIFDS).
A) Csrsmeudl B%) eoLoLiLy B) @ wpauewrt 5% oemioLiny
C) wsip% % Lol D) smaif 5% emioLiny
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16.

17.

18.

Which of the following statements is/are correct about the Indian economy during the
Covid Pandemic 2019 — 21 ?

1. Agriculture and allied sectors have been the least impacted by the pandemic.

2. India’s balance of payments remained in surplus.

3. India’s response has been an emphasis on demand management rather than reliance

on supply-side reforms.

4. Indian economy is expected to witness a real GDP expansion.

A) 1and 2 B) 1,2and 4

C) 3only D) all are wrong

Reverse Repo Rate refers to

A) The (fixed) interest rate at which the Reserve Bank absorbs liquidity, on an overnight
basis, from banks against the collateral of eligible government securities under the
Liquidity Adjustment Facility.

B) The (flexible) interest rate at which the Reserve Bank absorbs liquidity, on an overnight
basis, from banks against the collateral of eligible government securities under the
Liquidity Adjustment Facility.

C) The rate at which the Reserve Bank is ready to buy or rediscount bills of exchange
or other commercial papers.

D) The outright purchase and sale of government securities, for injection and absorption
of durable liquidity, respectively.

Which among the following is the largest item of revenue in the Union Budget
2022 - 23 7?

A) Income tax B) Union Excise Duties

C) GST D) Borrowings and other liabilities

19. Which one of the following is not an objective of NITI AYOG ?

A) To foster co-operative federalism

B) To develop mechanisms to formulate credible plans at the central level

C) To design strategic and long-term policy and program frameworks and initiatives
)

D) To create a knowledge, innovation and entrepreneurial support system

-12-
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16. Gsmail GClsmpmCrmui 2019 — 21 srevdGed @QBFwrs Ounmertsryd GB$s LIeTeu LD
BEemEHalled 615 Filwmesig 2

1.

A)
C)

afleuFmuLd LoPmILD B 65T CISTL_TLeoL_w FGlenmSHer CSTHmICHTwT6D LH&d &emmbhs
YY1ale) LITHSELILIL (HGTETGHT.

QpHwraller fleemeus Glsrens @iy o LfwursGe Q) bbSS5

@B wrallest LITF LI IL QuLpEISeD LIbFSens BLbLIaImS alll Caenas GLoGTE T LSS
(LpSHWSSIauLD 9eflEF .

QG wLs Qummertsmgb o esewiownest GDP alfleundsdeansssiasiib e1as

IS TLIMISSLILIBH B DS
1 wpmiib 2 B) 1,2 wpmib 4
3 oL (B D) wemersdsib saimi

17. Meuiev QriGuir G Qeng GPSF

A)

C)

D)

LIGRTLILLpSsLD FNOFUIF euFBUNGT Lp FSHSWITeST T LISD TEISeN6T LenensEn @
1@ s auBIGHsefl_Ophs @GCGr @ualled LewILiLpdhssang MFie aum% o PlehdLb
(Blewevwimest) auL” 19 a9 SLb.

LIGRTLIL|LpdaLb FMOFUIS eUFSUNGHT BLp FSHSWITeST 97511 LISS Isi156f 6t LenennLdEn @
TSI uBSsal_OBhs @Gr @uailled LewLiLjpdhssang MFie aum% o Plehdb
(CBp@peurnesn) auL’ 19 al&HSLb.

Meies eumG) LenTLiLfeouidsenat evevg LD uewiis 2 aueniEIs@hel W LIcOsenar
UMEBI% VG SeT@hLILy OlFUIw SWTIns @)(hdh@&Ld alFSLb.

byss ueiliypsssams o L CFdsaisnGLd 2 HlehHasn@&GLd HYTFTBISL
us@umseer penpCuw Crgwns aumsi@se wHmib alDLeeT OlFiisab.

18. Wereumpeuareaupmled 2022 — 23 wefluwie L 60)ggL” 1960 2SS UMl FL 1 WG

A) au@pLomest auif) B) yeflwesr sevmed eufaer

C)

letarvrg D) sLciser wpmib o Gimmiiser

19. ereupeuastaupmled e1g) 615 2 CunrGlesr CprésLoevev ?

A) &l Bwey gl LTl Fevw eI
B) ws@w 101”1 $&60 BLOLISLOTGT B L_BIS®ET 2 (BeUTHSHMUSDHTRT ULLl(LPODEHGT

2_(1h&U T &HS 6V

C) epGovmumu opmyth Fer_smev Glamretensd LoHMILD FlIed L L OLOLIL|SGT LoPMILD

(LPGIT(LPUD FFHEDAT QLY UGHLODF

D) wiifley, ysieww wpmitd Clsmfled LpeerCaini YHI6| HLDLIGHL 2 (BeuTdhEHEH
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20.

21.

22.

23.

24.

25.

26.

As per the Consumer Protection Act 2019, a product manufacturer shall be liable in a
product liability action, if

1. The product contains a manufacturing defect.

2. The product is defective in design.

3. There is a deviation from manufacturing specifications.

4. The product does not conform to the express warranty.

A) 1,2and 3 B) 2,3and 4 C) 1 only D) all

Which among the following word was added to the Preamble of the Indian Constitution
by the 42" Amendment ?

A) Sovereign B) Socialist C) Democratic D) Republic

Who among the following was not a member of the Drafting Committee of Indian
Constitution ?

A) B. R. Ambedkar B) K. M. Munshi
C) Mohammad Saadulla D) Jawaharlal Nehru

How Article dealing with Amendment of Constitution (Art. 368) can be amended ?
A) By simple majority B) By special majority
C) By special procedure D) None of the above

Find out the right statement with regard to freedom of press in India.

A) There is no specific guarantee of freedom of press in Indian Constitution
B) Freedom of press is absolute right

C) The press is immune from ordinary forms of taxation

D) The press enjoys special privileges under Article 19

How many times National Emergency (Art. 352) was imposed in India ?
A) Once B) Twice C) Thrice D) Four times

Which among the following is not a function of Union Public Service Commission ?

A) To conduct examinations for appointments to the services of the Union and the
services of the State

B) To be consulted on disciplinary matters affecting a person serving under the
Government of India

C) To be consulted on matters relating to methods of recruitment to military services
D) To be consulted on matters relating to claim for the award of a pension in respect of
injuries sustained by a person while serving the Government of India

-14-
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20. m&iGeumt ungsmiyd Fi 1b 2019 @6t Lig, ey WLy o PUSDwrerT b Swmilliy

21.

22.

23.

24.

25.

26.

Qummiiy pL_aigdensguied OummiCumngs Cauess(HLb.

1. swrilliy @ 2 PUSH GpUTL el d 6% T (heTang).

2. swmilliy ey euedlitied GHepLUT(h 2 6TaTg).

3. 2 pusH aleugs GOLILseND Q)BESI @RF ANVEHCD 2 GITaTS.

4. swrilliy etdeviigen 2 $510TES5FDG @)ewiBiIsalevanav.

A) 1,2 wpmib 3 B) 2, 3 wpmib 4 C) 1w @b D) wemergsib

Lereu@pLd eumigengsaiicy 42 aug F(hS55F 6T eLpevld QB TFWeenLoLIL6T
wpsLlieguiled CFIESLILIL L G 615 ?

A) @epwresens B) GCargadevi C) serpmusLd D) guywrs

Lesreupeuatauppled @QpF W HyrFweenLoiler e d Gpailed o pililestyns
@evevrgeur ?

A) B. R. 9bCugsi B) K. M. wpeirad)

C) wsLs Frgive0T D) geuamiievmred Gmp

IR WevenLo L1965 B (5SS FHwTepd S Heor (Art. 368) eraicummy
SBSSLILIL_uTD ?

A) ereflw GLigpLbLImesTEMLD eLpGVLD B) @wiiy Gu@sbuinesiento eLpevib
C) @wLiy pevL_(pemp eLpevLb D) GuGe e1giab @)evenev

QpFwraled LsHMens %SHF I CSTLTLITeT FAWTET YPlEbeHed ST PlieyLb.

A) @BFw Yyrfluwewenoliled LGF Mensd FSHEDISF DG SO L 2 FHT0UTHLD 6156 LD
@)evemev

B) ug@fens a5 01b 616HTLIGI (Lp(LHEOLOWITET 2 flewLp

C) usMsemaswnets Fngsmgest eufalBliLy peopsaied @)bHEH alGLBF DS

D) s (pewy 1967 &1p LG Menss6r FpLiLsF Fayenssaart O)LmI% e

@pFwralled ersgemar penp CsFw yaisFgblevev (Art. 352) alPssLL" 1 5 2
A) @@ep@D B) @@upep C) wemieparp D) preigpap

Lestaupeuastauppled 615 wesflwesr Litiefld Fiafev sibapesfler OFwevLIT(H yevev ?

A) wefwer wpmib orblev CFemals@epssret BlLbaTEIs@hdhsTet Cfiaseer
BL-53IS5

B) @55 w SrFnnissGet Srp ueswunpmid @BeueniL LTHS@GLD @Lpni@ allapwsisafed
<, Covrgenast Glup Geuessr(hLb

C) @Quremar Creveusapd@ L Cailiy wpepser Glsm_iumet alapwBisefey 2,Cerd)
-&501011L_ Gouaesst(h)Lb

D) @psw ypsmmiss@ed Lenflwmpmib CLing @b FLI(BSE DL L SMuUBIG6T OFmL_Lims
RUIFWLD aupBIGauSHaTeT Camhdeans OsmiLimet alapwnisaicy o CTREHLILIL
Geoues(@ib
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27.

28.

29.

30.

31.

32.

33.

34.

35.

Identify the political party which is not recognized a national party in India (as on 2022
data).
A) Bharatiya Janata Party B) Bahujan Samaj Party

C) Nationalist Congress Party D) Aam Admi Party

Under RTI Act, how much time is provided for disbursal of information sought for concerns
on life or liberty of a person ?

A) 24 Hrs B) 48 Hrs C) 15 days D) 30 days

Which among the following is the qualification to be appointed as President, National
Consumer Disputes Redressal Commission ?

A) Retired Chief Justice of the Supreme Court of India

B) Sitting or retired Judge of the Supreme Court of India
C) Sitting or retired Chief Justice of High Court

D) Any person with a deep knowledge on consumer issues

Which State initiated the ‘Bhoomi’ project ?
A) Karnataka B) Kerala
C) Andhra Pradesh D) Tamil Nadu

Name the Ancient Sanskrit Theatre practiced in Kerala.
A) Koodiyattam B) Padakam C) Rupaka D) Prahasana

“Kerala Kalamandalam” is situated in
A) Palakkad B) Malappuram
C) Thrissur D) Ernakulam

The venue of Uthrattathi Boat Race in Kerala is
A) Kavalam B) Piravom
C) Aranmula D) Punnamada

Who is hosting the Winter Olympics, 2026 ?

A) France B) ltaly C) England D) America

Who is the author of “Ramakathappattu” ?

A) Cheeraman B) Punam C) Cherussery D) Ayyappilla Asan
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@pFwraller CasPws s1" Pwns YBIGsMesLiLL_ng yrfwed s & (2022 syeayseiler

Lig).
A) umISw weTsT HLUF B) u@eesr Fwongh G
C) CsRweurs smEiFgev s &) D) <yb 50 "G

saaucd ypluyb 2 Meowod (RTI) s L_gF et Gip, s BT FSHBT eumpey Ol mL_riimest
FUMVS@h%GS CHmaILILI(BILD SFIMSET QULPBIGHMSDG 6Taieuara] GBILD aILpEISL

LU®BE DS 2
A) 24 1pewd B) 48 woewil C) 15 pr ser D) 30 pr ser

Lesreupeuatauppley CsFw msiGouni $HIMMI HlouidD) 9enenTidSF 6T FeneValTTs
BwbsSILRUSHETET $&S) 615 2
A) @B 2 57 FBIBT Guia) Dby sean SRS

B) @pswraler o &5 E@iocipsFHer Ligsaluled @ ps@GHL evavd @uiey OLPpp HFH LS

)
C) 2wir pBwIWSH 6T semevenio FH LIS evevs euia OLPpseevenis HF LIS
D) msiGeouni 9gsFevensailcd pbs yleneud Csmessi_ 61hbs0leunb BLI(HLD

6Ths LomBlevid ‘Lifl’ 'L Gens FlaudbGwig ?
A) sipm_sm B) Gsgermr
C) @St 9rCssib D) s8lp mr®

Gagermaileh pevL_(Lpepuiled QBES LILPBISTeV FLoevE (5 BlapFFuller OlLwen s
@OILILAL_6yLb

A)  Fqum L 1b B) um_sib C) epumsm D) ramrgerr
“CaHJer SeUTLDGRTL VLD’ 6T/5I& GHLDHSIGTETS] ?

A) unmevsET®H B) weviygib

C) @wd@sir D) eriemsrmgenth

Cagarmaled 2 @l L 19 UL & UpSwLd penl Olumib @)L Lb
A) smeumevib B) Mmeuib

C) ygeirpevr D) yesrewrior_m

@aflisme gadlibLidev, 2026 BL_GHeug w2
A) 9greiren B) @ssmel C) @mPevrbs D) Qwhssmr

“gmosS LT @ eTLpFweut wimi?

A) Ggmpeir B) yerib

C) G#msGa D) wyuwiwmriinerener ygmest
A7-
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36. The Malayalam poet whose life story is portrayed in the novel, “Theekkatal Katanhu
Thirumadhuram” ?

A) O.N.V. B) Kumaranasan
C) Thunchath Ezhuthachan D) Chullikkadu

37. The year of Aruvippuram Pratistha was
A) 1855 B) 1888 C) 1818 D) 1911

38. The old Victoria Hall in Trivandrum is named after
A) Ayyankali B) Dr. Palpu

C) Kurumban Daivathan D) Kumaragurudevan

39. Name the first University which declared menstrual leave in Kerala.
A) Malayalam B) Calicut
C) SSUS D) CUSAT

40. Who won the golden boots in Qatar World Cup Football 2022 ?
A) Neymar B) Kylian Mbappé
C) Ronaldo D) Lionel Messi

41. Which of the following System Software allows storing the output as Object Code ?
A) Interpreter B) Compiler
C) Assembler D) Loader

42. Which of the following devices are considered to be intelligent ?
I. Router
II. Switch
[ll. Hub
V. Bridge
A) land ll B) Iland IV C) lonly D) Il only

43. The current fastest Super Computer as per TOP500 ranking is
A) Frontier HPE Cray EX235a B) Leonardo BullSequana XH2000
C) Fugaku Super Computer D) Sierra IBM S922LC
A -18-
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“GE51L_60 S8 H(BLOSITLD BTeUcSIe) YISl UTLPE®S Fend FFMSsLL 1
LoeeVWITET HaIGHT?

A) O.N.V. B) @Logesrramest
C) s1655s e1(1pdsFFett D) serafssm

paiiygib r@eayenr ClFuiwini L g6 ?
A) 1855 B) 1888 C) 1818 D) 1911

DBeuThsLITSF 0 2 6irar Leipw alsCLmiwm apred @)eufesr GlLiwigmed
Qi L g

A) ouucismaf B) Dr. wevyy

C) &@LbLieh GlsuIaIsaeT D) @omi@mCsaustt

Gagarmailed orsailmit alB Lpevperws HYBallds (LS LIHFeEHLPISSH6E 0L Ts
&DILIIL_aLb.
A) eewrerib B) CamfGsn® C) SSUS D) CUSAT

FGSMT 2 wad Caumlien srevupg 2022 Q6w CsrevL_esr Ly av OeueTmeud wmi 9
A) Qmuiorr B) ewseSwesr eribimiGL

C) Ggnestmev@r_m D) &Cwrered Groevend)

Lereupeusasouppled 61 OoeGlLimparteg Gleuafluil ewr Clumuper GplufL_ns CFbldhs
2ADILFSE S
A) @ermig i B) sbewuievi C) «Qablemi D) Gevmii

Les1eupLd FngarsIsaney 61g LSHFTeOWTsd SSLILIGF DS 2
I emlo i
Il. #ad &
. amcy
V. il g
A) | wpmd I B) Il wopmyib IV C) | @b D) Il o @b

TOP500 grauflenguies Ly, spCLTeSW Cousiomest @it Syl i
A) oSulgmesriguiiir HPE Gy EX235a
B) aCwmewmiGrLm yevGlF@eumesrmr XH2000
C) oyar@ @GLiur Syt 1 i
D) @uwyrIBM S922LC
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44. Search Engine provided by MicroSoft Corporation is
A) DuckDuckGo B) Baidu
C) Yandex D) Bing

45. The expansion of SSD related memory devices is
A) Solid Storage Device B) Secondary Storage Device
C) Solid State Drive D) Secondary Storage Drive

46. The Indian Physicist who is considered as the ‘Father of Fiber Optics’
A) Narinder Singh Kapany B) Satyendra Nath Bose
C) Thanu Padmanabhan D) Jagadhish Chandra Bose

47. Which is India’s first dedicated Space Astronomy Observatory ?
A) XPoSat B) AstroSat
C) Aditya-L1 D) Chandrayaan-2

48. Which of the following is a non-renewable energy source ?
A) Hydro Power B) Wind Energy
C) Bio Energy D) Nuclear Energy

49. Which is the largest wildlife sanctuary in India ?
A) Ranthambore National Park B) Madumalai Sanctuary
C) Chinnar Wildlife Sanctuary D) Manas Wildlife Sanctuary

50. Indira Gandhi National Forest Academy is situated at

A) Pune B) New Delhi

C) Dehradun D) Shillong
51. Write the next of an Arithmetic Progression :

V2,/8,18,/32,

A) V40 B) /50 C) 60 D) v70
52. How many two digit numbers are divisible by 3 ?

A) 10 B) 20 C) 30 D) 40

A -20-



44.

45.

46.

47.

48.

49.

50.

51.

52.

031/23-T

e LodCuraFmesi’ smitiuGrayest aupmi@ Gs®6) LT
A) L& &8s B) eou®

C) wnessGlL_sdav D) 19m

SSD Qsm_iiLimesr Hleneeus Fngarsisaier allflemssLd
A) Fmdl’ avCrLnGrgh 19 emauav B) Qgseir M avCL_nCGrgh 19 emaiav

C) amell’ avGiL_L” 19empe D) GeseriM evGLnGysh 196

ULt LISV FHes eTeT H(BSLILIRLLD @BIHw QuipLlwevrert

A) BiBsT Smi SLTeH) B) #3Cwp®r png Cumev

C) snesy LGLoBTLIGH D) CwsSay #5655 CLmev

@3 QpHwraller (psed Yyilienfldasls Ll L alessToleuaf eumefluich g uiaFsLD
A) e1devCBLimsm B) wyev Gurem

C) w&swmrL1 D) sn®puimesr-2

LiesraueuaTapmled 61% LHILIL0%8 (LpLgWITS QDDED eLPGILDTELD ?
A) i LesrFmgLb B) smypremev ymmed

C) uGum gppev D) <@gy aped

@@ wraller O&L160LMw eueTallevsi@ FrewTTeVWLD 6154 ?
A) 1B5bCumt CasPw LmisT B) wgienevis Fpesstmevwith

C) Qestesmii euaTalleVEI@ FIGRTTEUWILD D) wewmev eueralevsi@ FrenTrevwib

QBB s1EE CaPuw aie ST GBI IHLOHSIGTENS)

A) Ger B) ya& QLevad

C) GLamgr®er D) aflcvevmmi

TenTSenls (LSTCAIDPSFHT I BHSSMS G1(LpS@]Lb.

J2,4/8,418,482, ____

A) 40 B) /50 C) /60 D) V70
TSSET (QIesT(h) (Q)eVsH GTETH6T 3 60 6@ LI(HILD ?

A) 10 B) 20 C) 30 D) 40
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53.

54.

55.

56.

57.

58.

59.

60.

61.

A person crosses a 600 m long street in 5 minutes. What is his speed in Km/hr ?
A) 6.8 B) 7.2 C) 84 D) 8.6

A completed the school project in 20 days. How many days B take to complete the
same work if he is 25% more efficient than A ?

A) 14 B) 15 C) 16 D) 17

Find the compound interest on Rs. 48,000 for one year at 8% per annum when
compounded half yearly.

A) Rs. 3,815.2 B) Rs. 3,912.2 C) Rs. 3,600.8 D) Rs. 3,916.8

The rate of Rs. 8 to 80 paise is
A) 10:1 B) 1:10 C) 8:1 D) 1:8

Sameera purchased 3% Kg apples and 4% Kg oranges. What is the total weight

of the fruits purchased by her ?

1

3 1 2
8— 8— 8—
A) 4 B) > C) 84 D) 3

The area of a rhombus is 240 cm? and one of the diagonals is 16 cm. Find the other

diagonal.
A) 20 cm B) 30 cm C) 40cm D) 50 cm
Which of the following fractions is the smallest ?

1 11 11 "
A 9 B) 7 © 10 D) 6

A man bought an article for Rs. 784 which included GST 12%. What is the price of
article before GST was added ?

A) Rs. 680 B) Rs. 690 C) Rs. 700 D) Rs. 710

In a code, CORNER is written as GSVRIV. How can CENTRAL be written in that
code ?

A) DFOUSBM B) GIRXVEP

C) GNFJKER D) None of these
-22.
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@ L 600 m Sarwperer Osmeeu 5 BlbL_Bigafley sL_s&HDIT. 9eurs Ceusid
Km/hr Qe erairer 2

A) 6.8 B) 7.2 C) 8.4 D) 8.6
A verefl i 1_geng 20 prlsefled pydsmi. B gyereaur A g ol 25% 99%
Betr CEressTL_6urt e16I6L, G5 Couemeveni (LpLy&% GISSGT BTL F6IT 4 GLD ?

A) 14 B) 15 C) 16 D) 17

UBL-SBDG 8% gl (BHoul’ 19a)F35H 60, 48,000 epLimiissmest auL’1gemu,

9GO TIITEHTLY 6D HERTSHILL_T6D, 6WT(h UL 19 WU HESTL HIIeyLb.

A) Rs. 3,815.2 B) Rs. 3,912.2 C) Rs. 3,600.8 D) Rs. 3,916.8

em. 8 (psped 80 eniFr 9@Ld aIFSLD
A) 10:1 B) 1:10 C) 8:1 D) 1:8

FLOgT 3% Kg <94t19@nLb 4% Kg 9406haLd ummBIGTTi. 966 aUImBIGI LILPEIS e 6o
Oonds eTemL_ 616G ?

3 1 1 2

8~ 8— 8— 8—

A) 87 B) 85 c) 8, D) 82

@b Combueder LigliLiere) 240 cm? LPmILb epemeaill’ L_mBigafe geity 16 CM. wdw
epemev Al L Fesd TR SHa LD ?

A) 20 cm B) 30 cm C) 40cm D) 50 cm
LesteupLd Lestestmigaled 61% Fpluig 2

11
9

11 11 1
B) = C) 15 D)

A)
R BUIT g OlLimmenar e. 784 &@ eunmBwGev, gletevry 12% 9yL_mi@Lb. gdletervry
CeissLiLGeaugn@ (et Glummefes allenev 66T 2

A) Rs. 680 B) Rs. 690 C) Rs. 700 D) Rs. 710

@5 @V 1geb, CORNER ereirig GSVRIVeres erps i Herens). 255 @mlufl 1g.6v
CENTRAL ereiriens 61LiLitg 61(Lps (LpLgujLb ?

A) DFOUSBM B) GIRXVEP

C) GNFJKER D) @eau 1516 blebemev
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62.

63.

64.

65.

66.

67.

68.

69.

70.

If Q denotes +, J denotes x, T denotes — and K denotes +, then 26K2Q3J6T4 = ?
A) 10 B) 28 C) 30 D) 27

Find the odd man out in 396, 462, 572, 427, 671, 264.
A) 396 B) 427 C) 671 D) 264

Find the missing number in the series :
3,6, 11, 18, 27, , 51.
A) 35 B) 36 C) 37 D) 38

If the minute’s hand and second’s hand of a clock are 25 minutes apart. What will

be the angle formed between them ?

A) 110° B) 120° C) 135° D) 150°

A’s son B is married to C whose sister D is married to E, who is the brother of B.

How C is related to E ?

A) Sister-in-law B) Sister C) Daughter D) Cousin

If 15! October is Sunday, then 1°' November will be

A) Wednesday B) Friday C) Sunday D) Monday

Kis 40 m South-West of L. If M is 40 m South-East of L, then M is in which direction
of K?

A) West B) East C) North D) South

Select the word that has same relation as the word pair below.
Coif : Hair : : : Musical

A) Shower B) Praise C) Close D) Score

1 1 2 11
i 3—4+4—-2=-1—,
Find the value of 5 > 3 12
17 15 37 31
A 1o B) 12 12 12
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62.

63.

64.

65.

66.

67.

68.

69.

70.
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Q eretrig) +, J eretrig) X, T 6168115 — Lopmid K 66t +, @mlsHns 26K2Q3J6T4 = ?
A) 10 B) 28 C) 30 D) 27

396, 462, 572, 427, 671, 264 Q)60 pDeODLILIGHL GTCSTENERTSH HeSTL_Hlia LD ?

A) 396 B) 427 C) 671 D) 264
3,6,11, 18, 27, , 51 Qam_Med aBLIL L cTessTenesstd SevsrL_mluia)Lb.
A) 35 B) 36 C) 37 D) 38

QB HLYFTISP6T FILOL_ (LpeiT Lopmyth adlewmig. (wLpeir, 25 Bl @emr_Olevafluied @)mbmev.

uDIGEL_Gw 2 (Heum@Lb CHTenILD 6TeiTesouTs ()@ LD ?

A) 110° B) 120° C) 135° D) 150°

A @it a6t B C enw @poentid OFuig Gasmer@pmi. C uiler #GsnsM D, E eow
Spoewrd CFuig ClsmerGmpmi. B uier #Gsngyi E. C e1ps euemsuied E &3

2 DUTGLD ?

A) Revi-@eir-evr  B) #Cxsnsii C) wasar D) s%er
9&CLmur 1 @mipnsFipenio eresipred peutbLii 1 ereiieweuns @)hdh@Lb

A) yseir B) Gausirad C) @pmudlmy D) Smisaer

K eretiigy L 6@ QserGonCGs 40 5. M ereiiig L 4@ Gsa@)psGs 40 L8 Qg meanevailed
2 eitang) etesflev, M eretriigy K &@ 61686 Hensuiley o eireng) ?
A) Gupe B) &pds C) & D) Qsps

GGl 2 eier eumidens ComgujL_er Gz Cl&mL_ieoLid CETeiL umigemnsewd;

G511 0\% (Hd5aLb.
Coif : Hair : : : Musical
A) Shower B) Praise C) Close D) Score
3144l 22 411 o e sem_Puas.
6 2 3 12
N 8) 1 © 13 D) 15
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71. Identify the type of sentence given below :
How strange she looks !

A) Interrogative sentence B) Declarative sentence

C) Imperative sentence D) Exclamatory sentence
72. The driver in that bus like your brother.

A) looks B) looked C) look D) is looking
73. Did Alan get job he applied for ?

A) a B) an

C) the D) none of the above

74. Use the appropriate question tag :
She has never seen him,
A) hasn’t she ? B) haven’t she ?
C) has she ? D) have she ?

75. Choose the correct tense form :

She him before you introduced them.
A) has met B) had met
C) have met D) was meeting
76. “Rose is the most beautiful flower” is an example of degree of
comparison.
A) Superlative B) Negative
C) Positive D) Comparative
77. Choose the correct preposition :
Amit waited for her the entrance.
A) at B) on C) in D) over
78. The baby want to drink milk. He wants to sleep instead.
A) isn’'t B) wasn’t C) doesn’t D) hasn’t

79. Correct the following sentence :
The old woman has slept for twelve hours last night.

A) was sleeping B) is sleeping
C) slept D) no change
80. The tank has water but not enough to water the plants in the
garden.
A) alittle B) little C) few D) very few
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.
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Choose the synonym of the word ‘woe’ from the following words.

A) distress B) candid C) childish D) illusion
Which of the following word is an antonym of the word ‘mad’ ?

A) descent B) reveal

C) sane D) rigid

The phrasal verb, ‘beef up’ means

A) To add something B) To make something bigger
C) To keep quiet D) To distribute equal
Choose the suitable collective noun.

A of fish.

A) company B) bevy

C) school D) bundle

Find out the correct spelling of the word.

A) Encyclopaedia B) Encyclopaediya

C) Ensyclopaedia D) Encyclopeedia

Idiom ‘Go on a wild goose chase’ means

A) To do something pointless B) Ignore someone

C) Close association D) Talk incessantly

What does the word, ‘Ad hoc’ mean ?

A) From the beginning B) For a specified purpose
C) Adding something to your talk D) Change of attitude
Study of mountains is termed as
A) Ornithology B) Pathology
C) Orology D) Genocide
Find the word that best fits into the blank space.
Ann a sum of Rs. 500 out of the bank every weekend.
A) extracts B) draws
C) obtains D) pulls
Out of the given words, one word is misspelt. Find the misspelt word.
A) outright B) othering
C) omlette D) offspring
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91. QuImeT MBS : LITTESD
A) CQuilweuswgls LTSS
B) mi uonsl umigsed
C) QuevLits Lmidsed

D) @&CasrGarn®) Lmidsed

92. gL, LcenLo Llewpsemar FEHW CSTL_ewT 61(LpSI%.
A) wi®s6r gL L ons Codibss)
B) wi®&er e ons Godipbses
C) wr®ser gL L _1ons GLouipsesti

D) &L 1o wrpser Gouibss)

93. GpssraTLDBD SEEs yar-Ouar QUuismens Gsis0sHds.
A) Greaush — 9o
B) s®euet — L
C) saflmy — um’1g

D) semev — Lemeur

94. Fflwner QmPeLwitiyg Qemsvenev Csibols®ss : Complements
A) umpmC Hsed B) uis% OFuized

C) aflwszed D) wpsLo6 gmmpaed

95. @11 Cuner Qsuieud Gmi&Gs aups wrG M — @LiLpGlmy) o ewriggb OLimper

wmgl ?
A) s® Lo B) meirewin
C) Gevio D) Geumyewio
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96.

97.

98.

99.

100.

spBLILpUPDS CIST_®Is dnpis.
A) gpeonsd sLbg5 STLHSGL Cum
B) wypenp SL s s1HéL Gun
C) aupoops sz sm’ G Gun

D) woymeow sLBa 1B Cuim

LM 0% (Lpgus © LievTalenev
A) wev + gy allemev
C) uew + Qevev

e1®1d ClFTevedvs Fhd : afges
A) Geupmlwimerasr

C) uwperareecs

031/23-T

B) wer + aflemev

D) wevr + @emev

B) Gsmewip

D) opeuesr

app OgFmeveravsd Csib0sH$S : STMwd SO 19

A) Qewevmert

C) Qerupeup

B) o myileori

D) ungismiigg @up

QFmpaemar aullensLiLi(h$s ClFTHOIDTL_eor eoLnds.

A) et cuer 9Bl L L1960 YemeTeuhLd @eTCOD

B) <emereu@pd g6 _cuest hLLienL Lit9eh @eiTGm

C) wmareu@pd @eTOn 6T euet 9yHL oL L6

D) oa1Gp 9jemestauhLd 60T euesT 9(HL LIeL L1160
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Space for Rough Work
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Space for Rough Work
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